

## A CONJUGATE OF M-N FUZZY SOFT SUBGROUPS

M. Kaliraja<sup>1\*</sup> and S. Rumenaka<sup>2</sup>

<sup>1</sup>PG and Research Department of Mathematics,

H.H.The Rajah's College, Pudukottai, Affiliated to Bharathidasan University,  
Tiruchirappalli, Tamilnadu, India. E-mail: [mkr.maths009@gmail.com](mailto:mkr.maths009@gmail.com)

<sup>2</sup>Research Scholar, PG and Research Department of Mathematics, H.H.The Rajah's  
College, Pudukottai, Affiliated to Bharathidasan University, Tiruchirappalli, Tamilnadu, India. Email  
[rumenaka@gmail.com](mailto:rumenaka@gmail.com)

**Abstract.** In this paper, we have discussed the concept of a conjugate of M-N fuzzy soft subgroup of a group and define the M-N fuzzy soft middle co-sets. Also its some elementary properties are discussed. The aim of the paper is to investigate conjugate of M –N fuzzy soft subgroup of a group from a general point of view.

**Key words:** Fuzzy subgroup; M-N fuzzy subgroup; M-N fuzzy soft subgroup; fuzzy soft middle co-sets.

**AMS Mathematics Subject Classification (2010):** 20N25, 06D72, 20E15.

### 1. Introduction

There are various types of uncertainties in the real world, but few classical mathematical tools may not be suitable to model these uncertainties. Many intricate problems in economics, social science, engineering, medical science and many other fields involve undefined data. These problems which one comes face to face with in life cannot be solved using classical mathematic methods. In classical mathematics, a mathematical model of an object is devised and the concept of the exact solution of this model is not yet determined. Since, the classical mathematical model is too complex, the exact solution cannot be found. There are several well-renowned theories available to describe uncertainty. For instance, Rosenfeld [10] introduced the concept of fuzzy subgroup in 1971 and the theory of fuzzy sets was inspired by Zadeh [14] in addition to this, Molodtsov [7] have introduced the concept of soft sets in 1999. Furthermore, Majiet. al., [6] as well introduction the concept of fuzzy soft sets in 2001 and Jacobson [3] introduced the concept of M-group M-subgroup.

Sarala and Suganya [11] unravelled some properties of fuzzy soft groups in 2014. In addition, Vasantha Kandasamy and Smarandache [13] have introduced the Fuzzy Algebra during 2003. An introduction to the new definition of Soft sets and soft groups depending on inclusion relation and intersection of sets were exposed by Akta and Cagman [1]. In 1981, Das [2] studied the Fuzzy groups

and level subgroups. Moreover, Maji, Biswas and Ray [6] were introduced the fuzzy soft set in 2001. In [9] the notion of a conjugate fuzzy subgroup of a fuzzy group was introduced and studied. ShobhaShukla [12] studied the conjugate fuzzy subgroup in 2013. Mourad Oqla Massa'deh [9] studied M- fuzzy co-sets, M –conjugate of M –fuzzy subgroups.

In the present manuscript, we have discussed the concept of conjugate of M-N fuzzy soft group based on the concept of M - N fuzzy soft group [5 and 9]. In section 2, we presented the basic definition, notations on conjugate of M-N fuzzy soft group and required results on fuzzy soft group. In section 3, we define the conjugate of M-N fuzzy soft subgroups, define the M-N fuzzy soft middle co-sets and related results are discussed.

## 2. Preliminaries

In this section, some basic definitions and results needed are given. For the sake of convenience we set out the former concepts which will be used in this paper.

### Definition 2.1

Let  $G$  be any non-empty set. A mapping  $\mu : G \rightarrow [0, 1]$  is called fuzzy set in  $G$ .

### Definition 2.2

Let  $x$  be a non-empty set. A fuzzy subset  $\mu$  of  $X$  is a function  $\mu : X \rightarrow [0, 1]$

### Definition 2.3

Let  $G$  be a group. A fuzzy subset  $\mu$  of  $G$  is called a fuzzy subgroup if for  $x, y \in G$

- (1)  $\mu(xy) \geq \min\{\mu(x), \mu(y)\}$
- (2)  $\mu(x^{-1}) = \mu(x)$

### Definition 2.4

Let  $\mu$  be an M- N fuzzy subgroup of a set  $G$ . For  $t \in [0, 1]$ , the level subset of  $\mu$  is the set  $\mu_t = \{x \in G / \mu(mx) \geq t, \mu(xn) \geq t, m \in M, n \in N\}$ . This is called a M – N level subset of  $\mu$ .

### Definition 2.5

A pair  $(\mu, A)$  is called a soft set over  $U$ , where  $\mu$  is a mapping given by  $\mu : A \rightarrow P(U)$

### Definition 2.6

Let  $(\mu, A)$  be a soft set over  $G$ . Then  $(\mu, A)$  is called a soft group over  $G$  if  $\mu(a)$  is a group  $G$  for all  $a \in A$ .

### Definition 2.7

A pair  $(\mu, A)$  is called a fuzzy soft set over  $U$ , where  $\mu : A \rightarrow I^U$  is a mapping  $I = [0, 1]$ ,  $\mu(a)$  is a fuzzy subset of  $U$  for all  $a \in A$ .

### Definition 2.8 [5]

Let  $(\mu, A)$  be a fuzzy soft set over  $G$ . Then  $(\mu, A)$  is called a fuzzy soft group if  $\mu(a)$  is a fuzzy subgroup  $G$  for all  $a \in A$ .

### Definition 2.9 [4]

Let  $(\mu, A)$  and  $(\lambda, B)$  be two fuzzy soft set over  $U$ . Then  $(\mu, A)$  is called a fuzzy soft subset of  $(\lambda, B)$  denoted by  $(\mu, A) \subseteq (\lambda, B)$  if

- (1)  $A \subseteq B$
- (2)  $\mu(a)$  is a fuzzy subset of  $\lambda(a)$  for each  $a \in A$ .

### Definition 2.10

A fuzzy set  $\mu$  is called a fuzzy soft subgroup of a group  $G$ , if for  $x, y \in G$

- (1)  $\mu(xy) \geq \min\{\mu(x), \mu(y)\}$
- (2)  $\mu(x^{-1}) \geq \mu(x)$

**Definition 2.11** [8]

Let  $M, N$  be left and right operator sets of group  $G$  respectively if  $(m x) n = m (x n)$  for all  $x \in G$ ,  $m \in M, n \in N$ . Then  $G$  is said to be an  $M - N$  group.

**Definition 2.12** [4]

Let  $G$  be an  $M - N$  group and  $(\mu, A)$  be a fuzzy soft subgroup of  $G$  if

- (1)  $\mu\{m(x y) n\} \geq \min\{\mu(x), \mu(y)\}$
- (2)  $\mu\{(m x^{-1}) n\} \geq \mu(x)$  hold for any  $x, y \in G, m \in M, n \in N$ , then  $(\mu, A)$  is said to be an  $M - N$  fuzzy soft subgroup of  $G$ . Here  $\mu: A \rightarrow P(G)$

**Definition 2.13** [5]

Let  $G$  be an  $M - N$  group and  $(\mu, A)$  be a fuzzy soft subgroup of  $G$  if

- (1)  $\mu(m x) \geq \mu(x)$
- (2)  $\mu(x n) \geq \mu(x)$  hold for any  $x \in G, m \in M$ , and  $n \in N$ , then  $(\mu, A)$  is said to be an  $M - N$  fuzzy soft subgroup of  $G$ .

**Definition 2.14** [12]

Let  $\mu$  and  $\lambda$  be two fuzzy subgroup of  $G$ , then  $\mu$  and  $\lambda$  are said to be conjugate fuzzy subgroup of  $G$  if for some  $g \in G$ ,  $\mu(x) = \lambda(g^{-1} x g)$  for every  $x \in G$ .

### 3. Conjugate of M-N fuzzy soft subgroup

In this section, we shall define the conjugate of M-N fuzzy soft subgroup, discussed the Conjugate of M-N fuzzy soft group based on the concept of fuzzy soft group [5 and 9], and give some elementary properties are discussed.

**Definition 3.1**

Let  $\mu$  and  $\lambda$  be two  $M - N$  fuzzy soft subgroup of  $G$ , then  $\mu$  and  $\lambda$  are said to be conjugate of  $M - N$  fuzzy soft subgroup of  $G$  if for some  $g \in G$ ,

- (1)  $\mu(mx) = \lambda(g^{-1} x g)$  for every  $x \in G, m \in M$
- (2)  $\mu(xn) = \lambda(g^{-1} x g)$  for every  $x \in G, n \in N$

**Definition 3.2**

Let  $G$  be an  $M - N$  group and  $(\mu, A)$  be a conjugate of fuzzy soft subgroup of  $G$  if

- (1)  $\mu(m x) \geq \mu(x) = \lambda(g^{-1} x g)$
- (2)  $\mu(y n) \geq \mu(y) = \lambda(g^{-1} y g)$  hold for any  $x, y \in G, m \in M$ , and  $n \in N$ , then  $(\mu, A)$  is said to be a conjugate of  $M - N$  fuzzy soft subgroup of  $G$ .

**Theorem 3.3**

Let  $\mu$  and  $\lambda$  be any  $M - N$  fuzzy soft subgroup of the group  $G$ , then  $\mu$  and  $\lambda$  are conjugate of  $M - N$  fuzzy soft subgroup of  $G$  iff  $\mu = \lambda$ .

**Proof:** Given that  $\mu$  and  $\lambda$  are conjugate of  $M - N$  fuzzy soft subgroup of the group  $G$ . We have to prove that  $\mu = \lambda$ . Since  $\mu$  and  $\lambda$  are conjugate of  $M - N$  fuzzy soft subgroup of the group  $G$ , by the definition there exists  $g \in G$ , such that,  $\mu(mx) = \lambda(g^{-1} x g)$  for every  $x \in G, m \in M$ ,  $\mu(xn) = \lambda(g^{-1} x g)$  for every  $x \in G, n \in N$ . Let  $mx = gmx$  for all  $x \in G, m \in M$ , then:

$$\begin{aligned} \mu(gmx) &= \lambda(g^{-1} g x g) \\ \mu(gmx) &= \lambda(x g) \\ \mu(gx) &= \lambda(x g), \quad \text{since } \mu(mx) \geq \mu(x). \end{aligned}$$

And, let  $xn = gxn$  for all  $g, x \in G, n \in N$ , then:

$$\mu(gxn) = \lambda(g^{-1}gxg)$$

$$\mu(gxn) = \lambda(xg)$$

$$\mu(gx) = \lambda(xg), \quad \text{since } \mu(xn) \geq \mu(x).$$

For some  $g = e \in G, m \in M$ , we have  $\mu(mex) = \lambda(mxe)$

$$\mu(mx) = \lambda(mx), \text{ since } \mu(xm) \geq \mu(x)$$

$$\mu(x) = \lambda(x), \mu = \lambda.$$

Similarly we can prove that  $\mu(exn) = \lambda(xen)$ , hence  $\mu = \lambda$ .

Conversely, we have to prove that,  $\mu$  and  $\lambda$  are conjugate of  $M - N$  fuzzy soft subgroup of  $G$ . Let  $\mu = \lambda$ ,  $\mu(mx) = \lambda(mx)$ ,  $\mu(mx) = \mu(x) = \lambda(x)$ , since  $\mu(xm) \geq \mu(x)$ . By the definition,  $\mu(mx) = \lambda(e^{-1}xe)$ . Similarly we can prove that  $\mu(xn) = \lambda(e^{-1}xe)$ . Hence  $\mu$  and  $\lambda$  are conjugate of  $M - N$  fuzzy soft subgroup of  $G$ .

### Theorem 3.4

Let  $\lambda$  be an  $M - N$  fuzzy soft subgroup of a group  $G$ , and  $\mu$  be a fuzzy soft subset of  $G$ . If  $\mu$  and  $\lambda$  are conjugate of  $M - N$  fuzzy soft subgroup of the group  $G$ , then  $\mu$  is an  $M - N$  fuzzy soft subgroup of a group  $G$ .

**Proof:** Let  $e$  be an identity element of the group  $G$ . If  $\mu$  and  $\lambda$  are conjugate of  $M - N$  fuzzy soft subgroup of the group  $G$ , by the definition, since there exists an element  $g \in G$ , such that:

$$\lambda(x) \leq \lambda(mx) = \mu(g^{-1}xg) \text{ for all } x \in G$$

$$\Rightarrow \lambda(x) = \mu(g^{-1}xg) \text{ and}$$

$$\lambda(x) \leq \lambda(xn) = \mu(g^{-1}xg) \text{ for all } x \in G, m \in M, \text{ and } n \in N,$$

$$\Rightarrow \lambda(x) = \mu(g^{-1}xg).$$

$$\text{Also, } \mu(x) \leq \mu(mx) = \mu(exe)$$

$$\mu(x) = \mu(g^{-1}gxg^{-1}g) \\ = \lambda(gxg^{-1}).$$

Therefore,  $\mu(x) = \lambda(gxg^{-1})$ . Similarly we can prove that  $\mu(x) \leq \mu(xn) = \mu(gxg^{-1})$ .

We have to prove that,  $\mu$  is an  $M - N$  fuzzy soft subgroup of a group  $G$ . Since  $\lambda$  be an  $M - N$  fuzzy soft subgroup of a group  $G$ , now:

$$\mu(xy) \leq \mu(mxy) = \mu(emxeyne)$$

$$\mu(mxy) = \mu(g^{-1}gmxg^{-1}gyn g^{-1})$$

$$= \lambda(gmxg^{-1}gyn g^{-1})$$

$$\geq \min \{ \lambda(gmxg^{-1}), \lambda(gyn g^{-1}) \}, \text{ since } \mu(xm) \geq \mu(x)$$

$$\mu(mxy) \geq \min \{ \lambda(gxg^{-1}), \lambda(gyg^{-1}) \}$$

$$\mu(xy) \geq \min \{ \mu(x), \mu(y) \}$$

$$\text{Also, } \mu(mx^{-1}n) = \lambda(gmxy^{-1}g^{-1}gny g^{-1})$$

$$\geq \min \{ \lambda(gmxg^{-1}g y^{-1}g^{-1}), \lambda(gyn g^{-1}) \},$$

$$\geq \min \{ \min \{ \lambda(gmxg^{-1}) \lambda(g y^{-1}g^{-1}) \}, \lambda(gyn g^{-1}) \}, \text{ since } \mu(xm) \geq \mu(x)$$

$$\geq \min \{ \min \{ \lambda(gxg^{-1}) \lambda(gyg^{-1}) \}, \lambda(gyg^{-1}) \},$$

$$\geq \min \{ \{ \lambda(gxg^{-1}), \lambda(gyg^{-1}) \}, \mu(y) = \mu(y^{-1}) \}$$

$$\geq \min \{ \lambda(gxg^{-1}), \lambda(gy^{-1}g^{-1}) \}$$

$$= \lambda(gxg^{-1}),$$

$$\mu(mx^{-1}n) = \lambda(gxg^{-1}).$$

Hence  $\mu$  is an  $M - N$  fuzzy soft subgroup of a group  $G$ .

## 4. M-N Fuzzy Soft Middle Co-set

### Definition 4.1

Let  $\lambda$  be an  $M - N$  fuzzy soft subgroup of a group  $G$ . then for any  $a, b \in G$  the  $M - N$  fuzzy soft middle coset  $a\lambda b$  of the  $G$  is defined by  $(a\lambda b)(mxn) = \lambda(a^{-1}xb^{-1})$  for all  $x \in G$ .

### Theorem 4.2

If  $\lambda$  is an  $M - N$  fuzzy soft subgroup of a group  $G$ , then for any  $a \in G$ , the  $M - N$  fuzzy soft middle coset  $a\lambda a^{-1}$  of the group  $G$  is also a  $M - N$  fuzzy soft subgroup of the group  $G$ .

**Proof:** Let  $\lambda$  be an  $M - N$  fuzzy soft subgroup of a group  $G$  and  $a \in G$ . Let  $x, y \in G$ ,  $m \in M$  and  $n \in N$ , then:

$$\begin{aligned}(a \lambda a^{-1})(m x y^{-1} n) &= \lambda(m a^{-1} x y^{-1} a n) = \lambda(m a^{-1} x a a^{-1} y^{-1} a n) = \lambda(m (a^{-1} x a) (a^{-1} y^{-1} a) n) \\ &\geq \min \{ \lambda(m (a^{-1} x a)), \lambda(a^{-1} y^{-1} a n) \}, \text{ since } A(mx) \geq A(x), A(yn) \geq A(y) \\ &\geq \min \{ \lambda((a^{-1} x a)), \lambda(a^{-1} y^{-1} a) \},\end{aligned}$$

since  $\lambda$  is an  $M - N$  fuzzy soft subgroup of a group  $G$ . Therefore,

$$(a \lambda a^{-1})(m x y^{-1} n) \geq \min \{ \lambda((a^{-1} x a)), \lambda(a^{-1} y^{-1} a) \}.$$

Hence  $a\lambda a^{-1}$  is an  $M - N$  fuzzy soft subgroup of the group  $G$ .

### Theorem 4.3

Let  $\lambda$  be any  $M - N$  fuzzy soft subgroup of a group  $G$  and  $a\lambda a^{-1}$  be an  $M - N$  fuzzy soft middle coset of  $G$ , then  $o(a\lambda a^{-1}) = o(\lambda)$  for any  $a \in G$ .

**Proof:** Let  $\lambda$  be an  $M - N$  fuzzy soft subgroup of a group  $G$  and  $a \in G$ . By the theorem 3.6  $a\lambda a^{-1}$  is an  $M - N$  fuzzy soft subgroup of the group  $G$ . Thus  $(a \lambda a^{-1})(m x n) = \lambda(m a^{-1} x a n)$ , for all  $x \in G, m \in M$  and  $n \in N$ . Therefore,  $\lambda$  and  $a\lambda a^{-1}$  are conjugate of  $M - N$  fuzzy soft subgroup of  $G$ .

We know that the theorem if  $\lambda$  and  $\mu$  are conjugate of  $M - N$  fuzzy soft subgroup of the group  $G$ , then  $o(\lambda) = o(\mu)$ . Hence  $o(a\lambda a^{-1}) = o(\lambda)$  for any  $a \in G$ .

### Definition 4.4

Let  $\lambda$  and  $\mu$  be an  $M - N$  fuzzy soft subgroup of the group  $G$ , and  $f$  be a positive fuzzy set, then for  $a \in G$  we define the  $M - N$  positive double fuzzy soft coset

$$(\lambda \mu)^f \text{ by } (\lambda \mu)^f = \min \{ (a \lambda)^f, (a \mu)^f \}.$$

### Theorem 4.5

The  $M - N$  positive double fuzzy soft co-set  $(\lambda \mu)^f$  is  $M - N$  fuzzy soft subgroup of the group  $G$ , when  $\lambda, \mu$  are  $M - N$  fuzzy soft subgroup of  $G$

**Proof:** Let  $x, y \in G$ ,  $m \in M$  and  $n \in N$ . Now,

$$\begin{aligned}(\lambda \mu)^f(m x y^{-1} n) &= \min \{ (a \lambda)^f(m x y^{-1} n), (a \mu)^f(m x y^{-1} n) \} \\ &= \min \{ f(a) \lambda(m x y^{-1} n), f(a) \mu(m x y^{-1} n) \} \\ &\geq f(a) \min \{ \min \{ \lambda(m x), \lambda(y^{-1} n), \min \{ \mu(m x), \mu(y^{-1} n) \} \} \}.\end{aligned}$$

Since,  $\lambda(m x) \geq \lambda(x)$ ,  $\lambda(x^{-1}) = \lambda(x)$ ,  $(x n) \geq \mu(x)$ ,  $\mu(x^{-1}) = \mu(x)$

$$\begin{aligned}&\geq f(a) \min \{ \min \{ \lambda(x), \lambda(y), \min \{ \mu(x), \mu(y) \} \} \} \\ &\geq f(a) \min \{ \min \{ \lambda(x), \mu(x) \}, \min \{ \lambda(y), \mu(y) \} \} \\ &= \min \{ f(a) \min \{ \lambda(x), \mu(x) \}, f(a) \min \{ \lambda(y), \mu(y) \} \} \\ &= \min \{ (\lambda \mu)^f(x), (\lambda \mu)^f(y) \}.\end{aligned}$$

Therefore,  $(\lambda \mu)^f(m x y^{-1} n) \geq \min \{ (\lambda \mu)^f(x), (\lambda \mu)^f(y) \}$ . Hence  $(\lambda \mu)^f$  is  $M - N$  fuzzy soft subgroup of the group  $G$ .

## 4. Conclusion

The main results in the present manuscript are based on the concept conjugate of  $M - N$  fuzzy soft group [5 and 12]. We have also defined the  $M - N$  fuzzy soft middle co-set and its some elementary properties are discussed.

## References:

- [1] H. Akta and N. Cagman, Soft sets and soft group, Information Science 177(2007) 2726 – 2735.
- [2] P.S. Das, Fuzzy groups and level subgroups, J. Math. Anal. Appl, 84(1981) 264 – 269.
- [3] N. Jacobson, Lectures in Abstract Algebra, East-West Press, 1951.

- [4] M. Kaliraja and S. Rumenaka,  $M - N$  fuzzy normal soft groups, Int., J. Fuzzy Math., Archive, Vol. 13, No. 2, 2017, 159-165.
- [5] M. Kaliraja and S. Rumenaka, Some Result on  $M - N$  fuzzy soft Groups. Journal of Applied Science and Computations, Volume V, Issue XII, December/2018, 1076 – 5131.
- [6] P.K. Maji, R. Biswas and A.R. Ray, fuzzy soft set, J. Fuzzy math., (2001) 589-602.
- [7] D. Molodtsov, soft set theory – first result, comput, math, Appl, 37 (1999) 19-31.
- [8] Mourad Oqla Massa, deh and Al- Balqa, The  $M - N$  homomorphism and  $M - N$  Anti homomorphism over  $M - N$  fuzzy subgroups, International Journal of Pure and Applied Mathematics, Vol.78, No. 7, 2012, 1019-1027.
- [9] Mourad Oqla Massa, deh, On  $M -$ Fuzzy Coset,  $M -$  Conjugate of  $M -$  Upper Fuzzy Subgroups over  $M -$  Groups, GlobalJournal of Pure and Applied Mathematics, ISSN 0973-1768 , Number 3 (2012), pp. 295 – 303.
- [10] A. Rosenfield, fuzzy groups, J. math. Anal. Appl., 35(1971) 512 – 517.
- [11] N. Sarala and B. Suganya Some properties of Fuzzy Soft Group, ISRO Journal of Mathematics, Volume 10 Ver 3(Mar -Apr 2014), pp36-40.
- [12] Shobha Shukla, Conjugate fuzzy subgroup, IJSER Vol4, Issue 7, July-2013, ISSN2229-5518.
- [13] W.B. Vasantha Kandasamy and Smarandache Fuzzy Algebra, American Research Press 2003.
- [14] L.A. Zadeh, Fuzzy sets, Inform and control, 8 (1965), 338 -353.